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QUESTION 1

Refer to the exhibit A VSAN is being set up on an HP Comware switch that will connect to server Converged Network
Adapters (CNAs) and storage systems The administrator is checking the configuration of the VSAN with display
commands The exhibit shows the results. 

What is a potential issue? 

A. The current zoning configuration does not permit any communication. 

B. The fabric name has been set to the same ID as the switch WWN. which causes conflicts. 

C. The distribute mode for zones has been set to active only, which can cause issues with redundancy. 

D. The domain ID has been set manually to a preferred ID, but this switch does not have the highest priority 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit 
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The exhibit displays a company with two data centers that connect by using EVl. The company needs a 

redundant solution for routing traffic between the subnets. 

What is the best way to accomplish this goal? 

A. Run Virtual Router Redundancy Protocol (VRRP) on the data center subnets 

B. Place the EVl tunnel interface on each IRF virtual device in a different VPN instance, and then set up routing on each
device by using the same IP addresses. 

C. Use TRILL on the EVl network. 

D. Combine IRF 1 and IRF 2 into the same IRF virtual device, and set up routing on that device 

Correct Answer: B 

 

QUESTION 3

Which HP solution is an example of network function virtualization (NFV)? 

A. HP 12900 Series Switch 

B. HP 5900CP Series Switch 
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C. HP IRF virtual device 

D. HP Virtual Services Router (VSR) 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit PE-1 receives an IP packet that is destined to 10 1.10 10 and does not have an MPLS header. What
does PE-1 do? 

A. drops the packet 

B. adds an MPLS header without a label and forwards the packet to 10.1.1.1 on VLAN 17 

C. adds an MPLS header with label 1150 and forwards the packet to 10.1.1.1 on VLAN 17 

D. forwards the packet to 10.1.1.1 on VLAN 17 without an MPLS header 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit 
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An administrator is configuring an MPLS VPLS Martini solution on PE-1. The VPLS solution should connect customer A
sites 1, 2, and 3 Where should the administrator specify the LDP peers and pseudo wire (PW) label for the PWs? 

A. in service instances on interfaces Ten2/0/1 and Ten2/0/2 

B. in a Virtual Switch Instance (VSI) for customer A 

C. in a service instance on interface G1/0/1 

D. in a global cross-connect group 

Correct Answer: A 
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